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Peter Pan

J. M. Barrie

KEY TO THE ACTIVITIES AND EXIT TEST

CHAPTER ONE
Page 6 - exercise 1
1B 2C 3F 4D 5E 6A

Page 6 - exercise 2
1T 2T 3F 4F 5F 6F

Page 6 - exercise 3
Open answer

Page 11 - exercise 1
1B 2C 3A 4A 5C 6B

Page 12 - exercise 2

A 1D 2A 3B 4E 5F 6C
B Open answer

Page 12 - exercise 3

A 1C 2D 3B 4E 5A
B Open answer

Page 12 - exercise 4
Open answer

LOH(].OH

Page 14 - exercise 1

1 Almost eight million people live in

London today.

2 There are more than 300 parks in

London.

You can see a statue of Peter Pan in
Kensington Gardens.

The River Thames runs through London.
Big Ben is an enormous clock on top of
a tall tower.

There are more than 240 important
museums in London.

CHAPTER TWO

Page 20 - exercise 1

1A 2B 3A 4B 5B 6C 7B
8A 9A

Page 20 - exercise 2
Open answer

Page 20 - exercise 3

1

2

3

5

Wendy has blue eyes and long blond
hair. She is friendly and pretty.

John has brown hair and brown eyes. He
is tall and wears glasses. He is friendly.
Michael has brown hair and blue eyes.
He does not like having baths. He is
friendly.

Peter has red hair and a friendly face. He
wears clothes made of green leaves and
does not want to grow up.

Tinker Bell is very small and lovely.

Page 21 - exercise 4

1inside 2 outside 3 under
4in 5on 6at 7behind 8for

KEY TO THE

Page 21 - exercise 5

Who
What
Where
When
Why
Where
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CHAPTER THREE

Page 22 - exercise 1
1B 2C 3F 4E 5D 6A

Page 22 - exercise 2
1A 2C 3B 4A

Page 27 - exercise 1

1C 2A 3B 4C 5A 6C 7B 8A
9C 10B

Page 28 - exercise 2

everywhere
Everything
everyone
everywhere
Everything
Everyone
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Page 28 - exercise 3
1D 2E 3C 4A 5B 6F

Page 28 - exercise 4
1B 2A 3B 4A 5B

Fairies And Their Magic

Page 29 - exercise 1

1T
2 F - Fairies live in the forest, in trees, in
flowers and in gardens.

3T
4 F - Fairies sometimes do good things
and bad things.
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ACTIVITIES

CHAPTER FOUR

Page 34 - exercise 1
1C 2B 3B 4A 5B 6B

Page 35 - exercise 2

London
alarm clock
kennel
drawer
glasses
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Page 35 - exercise
Open answer

Page 36 - exercise 4
A5 C2 E1 F4 G3

Page 37 - exercise 5
A 1C 2B 3C 4A 5C 6A
B Open answer

CHAPTER FIVE

Page 37 - exercise 1

safe

after

an exciting
sometimes
two parents
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Page 42 - exercise 1

1B 2C 3A 4B 5B 6B 7A 8A
9B 10A



KEY TO THE ACTIVITIES KEY TO THE ACTIVITIES

AFTER READING

Page 42 - exercise 2

CHAPTER SEVEN

C They are worried because they are

Page 43 - exercise 3

Page 57 - exercise 2

1 doesn’t like prisoners of the pirates, and they don’t
2 tells Page 52 - exercise 1 want to walk the plank. Page 62 - exercise 1
3 don’'tgo 1C 2B 3A 4C 5B D It refers to page 47. A2 B8 C1D5E3F6 G9
4 don’t know . H4 17
Page 57 - exercise 1
5 wears
6 cooks 1A 2C 3B 4A 5A 6B

A 1 you

1D 2C 3A 4D 5B 6A 2 at

B 3 in

1 shoes 4 is

2 party 5 your

3 fireplace 6 for

4 hair 71

5 sad 8 because

6 London 9 my KEY TO THE EXIT TEST
10 you

Page 43 - exercise 4

1U 2C 3U 4U 5U 6U 7C
8u 9U

CHAPTER SIX

Page 45 - exercise 1
1F 2C 3A 4B 5E 6D

Page 45 - exercise 2
1C 2A 3B 4C 5B

Page 50 - exercise 1

1E 2C 3A 41 5B 6H 7G
8D 9F

Page 51 - exercise 2

1 because 2or 3but 4but
5or 6and

Page 51 - exercise 3

1A 2C 3F 4E 5H

Page 52 - exercise 4

Page 58 - exercise 3
1B 2C 3A 4C 5A

The Darling Home

Page 60 - exercise 1
1D 2E 3A 4B 5C 6F

Filmography

Page 61 - exercise 1

A Wendy is sitting by the bed and she is

sewing Peter’s shadow.
B It refers to page 16.
C open answer

Page 61 - exercise 2
A The pirate is Smee.

B He is old and is not very tall. He wears

glasses and has a beard.

1C 2F 3D 4A 5B 6E

1 happily C Open answer

2 quickly Page 61 - exercise 3

3 slowly

4 softly A They are playing pirates in the park.

5 sadly B They are probably going home after the

6 angrily game. © 2014 Black Cat, Genoa, London
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1

COMPREHENSION CHECK

Choose the correct answer - A, B or C.

1 Max and Laura go on holiday
A | | In the dining room.
B | | In her pocket.
C | |Inadrawer.

2 How does Wendy help Peter Pan?
A | | She finds his shadow.
B | | She looks for his shadow.
C | | She sews his shadow on.

3 What must the Darling children learn to do?
A | | They must learn to fly.
B | | They must learn to sew.
C | | They must learn to tell stories.

4 Where do the Lost Boys and Peter Pan live?
A | | On the Jolly Roger.
B | | In the underground home.
C | | In the Indian camp.

5 Who is Peter Pan’s big enemy?
A | | Captain Hook.
B | | Smee.
C | | The crocodile.

6 What has the crocodile got in his stomach?
A | | Some fish.
B | | A hook.
C | | An alarm clock.

7 How does Wendy leave Marooner’s Rock?
A | | She swims away.
B | | A kite takes her away.
C | | A boat takes her away.
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EXIT TEST

8 Why doesn’t Peter Pan want to stay with the Darling family?
A D Because he does not want to grow up.
B | | Because he does not like big cities.
C | | Because his parents live in Neverland.

9 Who wins the big fight on the Jolly Roger?
A | | Captain Hook.
B | | Peter Pan.
C | | Noone.

10 When can Wendy visit Peter Pan in Neverland?
A | | At Christmas.
B | | During the summer.

C | | Every spring.

2 WHoOIsIT?

Match the name of the character with the description.

|| She is a wonderful nanny.

| | They haven’t got a family.

| |He has a short name.

D He is the captain of the Jolly Roger.

| | She has a big sewing basket.

|| She is the daughter of the Indian chief.
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Captain Hook
Wendy

Nana

Peter

Tiger Lily

The Lost Boys

mmOoOO®W »

Photocopiable © 2014 Black Cat



